f
C T

Page 1.0f -

ULTRA BED

Bed Assembly Instructions

Hardware Pack in Box # |

o

Washer M8 M8 x 20 min

ME x 45 mm
pe

4 pes

7}

12 pes

4 pes
M6 X 49 [i M6 X 70
2 pes ]

o
. =8
& T
z -
= E —
22 g on
T = B
LS £ -
-+ = 41 Q
- 2 &7
w0 Sz a
- ! et
= > m .=
4 bEH
5 i
193
£ Em
g ES B
B o e
(4] r'\&
(o
- ' -4
£ @ =
v e
=
A

Box #2 |

Box#1-

- 1 Pe. Slat Support

2 Pes. Side Rail

A complete asemmbled view

of a Conventional Bed

by
Twe .9
wam
Ocaﬁ
.D_D =)
T = - &
§EE S
Iu.au:a'
m
gy 88
& & ad
_— - X T

Optional Slat -

10 pes. Slat




Page 2 of 2

ULTRA BED

‘/ééééi Assembly Instructions




